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1. A and B are 5×5 matrices for which det(A) = 3 and det(B) = −4. Find det(2AB−1ATB2).

2. Find the determinant of

A =


1 −3 −1 2
−2 6 5 3
−1 3 −1 2
4 −9 2 2


by reducing to upper triangular form.

3. Find the eigenvalues (both real and complex) and corresponding eigenspaces of each of the
following matrices.

(a) A =

[
3 1
2 4

]
(b) A =

[
4 −2
1 2

]

(c) A =

−1 2 3
1 −2 −1
−2 4 4


(d) A =

2 0 0
0 −3 5
3 −5 3


(e) A =

−5 8 −8
−4 7 −4
0 0 3


(f) A =

−5 8 −8
−4 7 −4
0 0 −1




